(BEX| HAHEH 7|1=7t, #/107H)

Al o + = A M 7|8 o™ F = 3
go T |SE 0B |BE|an|ZE S 0|5 dE | S| de |50
20064 78 [1,100(1,023/1,001| 981| 81| 962| 920 958| 938| os0| s48| os8| 838
82 |1,148[1,051|1,024]1,001| 831]1,06| 949[1,056] 941[1.017| 881|1,017| 879

98 [1,265]1,139]1,064]1,044| 874]1,143]1,0411,141(1,024|1.104] 959|1.104] 950

108 [1,134[1,004]1,032[1,012| 876| 964| 924| 964| 924| 965 809| 960| 907

118 [1,007]1,067/1,007| 957| 867| 919| 879| 919| 879 920 870| 919| 879

128 [1,012] 977) 943| 923| 803| 839| 799| 839| 799| 844| 704| 820| 789
2007418 [1,035[1,005] 985| 965| 845| 875| 835 872| 835] 865 815 860] 820
28 [1,025] 995) 985 965| 845| 856| 816 846| 816] 849 816| 851| 820

38 [1,0541,024]1,014] 94| 874| 885| 850| 877| 847| 877 847| 879| 849

42 867| 837| 827| 807| 687| 859| 829| 857| 827| 8e2| 832| 9p2| 832

52 936| 906 896| 876| 756| 955| 930| 951| 929] 935| 905| @35| 905

62 891 860| 850| 830| 710| 891| 856| 884 862| 886| 854| 886| 854

74 824 783| 773| 753| 633| 867| 795| 857| 805| 834| 783| 834| 783

82 973| 897| 866| 846| 726| 987| 892| 978| 903| 960| 887| 960| 887

98 [1,110] 298] 920| 900| 780|1.109| 9871,099| 997|1.081| 978|1.081| 978

108 [1,069]1,019] 971| 953| 833[1,064|1,0061.0541.016|1.023| 996|1.023] 996

118 [1.126[1,004]1,084|1,074| 954 1,093 |1,058|1,088 1,068 |1.076|1,056 | 1,076|1,056

128 [1,254]1,221]1,207 (1,197 1,077 1,194 [1,164 1,194 1,174 1.197| 1,175 1,205 1,181
12822%1,250(1,220(1,210(1,200{1,080 1,210 1,180 {1,210 1,190 | 1,200 1,180 1,250 | 1,220

262 |1,200|1,1701,160|1,150|1,030 |1,160 |1,130|1,150 1,130 | 1,140| 1,120 | 1,140|1,120

19 12[1,200(1,170/1,160{1,150(1,030 |1,160 [1,130[ 1,150 1,130 | 1,140[ 1,120 | 1,140 1,120
3911,2001,170| 1,160 1,150 1,030 1,160 1,130 | 1,150 | 1,130 | 1,140| 1,120 | 1,140 |1,120
811,200 1,170|1,160 1,150 1,030 1,160 |1,130 | 1,150 | 1,130 | 1,140| 1,120 | 1,140 |1,120
112/1,260|1,230( 1,220 |1,210{1,090| 1,220 1,190 | 1,210 1,190 | 1,200|1,180 | 1,200 | 1,180

182 |1,260|1,230| 1,220 |1,210{1,090| 1,220 1,190 | 1,210 1,190 | 1,200|1,180 | 1,200 | 1,180
212{1,320|1,200|1,280|1,270 1,150 | 1,280 | 1,250 | 1,270 | 1,250 | 1,260| 1,240 | 1,260 1,240
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(AERIZHA, A, #l/ka)

> = A i 2|5 4™ =21 F
TE CH = s CH CH CH cH
20064 78 1,398 1,421 1,437 1,361 1,371 1,332 1,387
8 1,530 1,521 1,521 1,521 1,482 1,455 1,529
9 1,073 1,173 1,260 1,070 1,095 1,010 1,117
108 985 1,072 1,172 972 1,032 919 1,013
1 1,097 1,143 1,237 1,097 1,085 1,040 1,137
128 779 814 905 795 763 713 906
20074 1€ 1,156 1,198 1,201 1,150 1,156 1,103 1,161
24 1,083 1,083 1,004 1,090 1,039 1,021 1,154
3g 1,134 1,140 1,140 1,127 1,084 1,058 1,158
4 970 1,017 1,017 973 955 923 1,010
5€ 1,046 1,046 1,027 1,072 1,021 961 1,116
6 967 1,015 1,015 1,117 1,050 917 1,080
74 1,140 1,205 1,227 1,246 1,195 1,032 1,187
8 1,288 1,330 1,317 1,350 1,287 1,190 1,316
9¢ 910 980 993 1,057 947 793 1,023
10€ 992 1,088 1,146 1,043 1,042 929 1,013
1€ 1,263 1,297 1,373 1,303 1,275 1,220 1,263
12¢ 1,446 1,472 1,550 1,556 1,447 1,371 1,439
128 224 1,540 1,540 1,540 1,640 1,500 1,400 1,500
28Y 1,640 1,640 1,640 1,640 1,600 1,500 1,500
12 1Y 1,640 1,640 1,640 1,640 1,600 1,600 1,600
74 1,640 1,640 1,640 1,640 1,600 1,600 1,600
104 1,640 1,640 1,640 1,640 1,600 1,500 1,600
1g 1,540 1,540 1,540 1,440 1,400 1,400 1,500
164 1,440 1,440 1,440 1,440 1,400 1,300 1,400
19 1,440 1,440 1,440 1,440 1,400 1,300 1,400
(th:1.6kgo) 4, 3:1.4~1.6kgr|h, 2:14kgn]wh)
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